
call

init_state connection_ok

sending_data

voice_com

reqt = <init> 
ackt = <call> 
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loset = <false> 
reqt ≠ <send> 
ackt = <connection_ok> 

loset = <false> 
ackt = <connection_ok> 

loset = <true> 
ackt = <init_state> 

loset = <true> 
ackt = <init_state> 

loset = <false> 
reqt = <send> 
ackt = <sending_data>
i1t = buffer

loset = <false> 
a1t = <> 
ackt = <connection_ok> 

loset = <true> 
ackt = <init_state> 

stopt = <stop_vc> 
ackt = <init_state> 

loset = <true>, stopt = <>
ackt = <voice_com> 

loset = <false>, stopt = <> 
ackt = <voice_com>
vct = <vc_com>  

loset = <false> 
a1t = <sc_ack> 
ackt = <voice_com>
vct = <vc_com>  

reqt ≠ <init>  
ackt = <init_state> 
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